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f-f L(AS  Xay () PCM momentum before = momentum after

% 2m(4u) + 3méu) = 2m(y) + 3m(y)
? = 2V, +3v,=5u  ........ eql
% NEL V, = Vy = —e(4u+u)

t = V=V, ==5eu ........ eq2

s ey

SN

Solve equations 1 and 2
v, = u(l=3e)
va = u(l +2e)
(ii) If e>1/3 then v, < 0 and W= 0

i.e.  the particles move in opposite directions after the collision.

(b @
y““‘/‘ﬂ-r
along the plane vcosB = usinB
[ P ’ : ) o v = utanB
u perpéh&icular to %ne <<<<< v sinl = eucosf
= utanf si = eucosB
2 ~ tanB = Ve

(ii)  Kinetic Energy befo;e»f—f’O.Smuz‘

Loss in kinetic energy = 0.5m(u*~ v?)

-

= 0.5m(u®- v*tanB)

0.5mu*(1—~e)

Fractionof KElost = O.Smu"g 1—¢e) g
0.5mu*

= l—oe \.




